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#1: 7 TW Open(16.39) #2: 3 B¥8(16.18) #3: 6 UNE(11.14)

2 NS: Sogf4s 2218¥EEHC) -17 1 NS: 5 $E{ZH(BO) -19 VP:| 9.61 10.39| Total VP: 9.61 Rank:
EW L=y ﬁﬂﬂ:ﬁ(ﬁﬁo) 19 EW: ffifm{t BREIEE (BAC) 17 IMP:| 26 27 6
.
#1 'y K2 25E3 140 Mean: 4SW-3 150 4.0 1 [[# 2 » Q6 1NW-2 -100 Mean: 3DE-3 150 40 1
v AQJB5 4SW-2 -100 -10  4SW-2 100 3.0 1 v J93 2HW2110 o 3HE-2 100 3.0 1
*J Dif: 240 NS:3  2SW-1 50 20 2 * KJ74 Dif: -210 NS:-3 1NW-2 100 30 1
» T9832 IMP: 6 EW:4 A 00 2 & AK82 IMP: -5 EW:-3 2HW-1 50 20 1
& A9874 s T63 25W2 10 -3.0 1 ||a J852 s AT A 00 2
v K92 v T43 2SE2 110 -3.0 1 ||w 8652 I v AQ74 2NN-1 100 -3.0 1
* A964 * KT8 3SW3 140  -40 1 ||e A * QT652 2HW2 110 3.0 3
& A » K754 2SE3 140 -40 1 ||a 9743 » J5
B+ ¢VAN ,QF5 % ¢ VBN 4 KI743
N 2~1~~ 987 N 21~21 KT
S 2~2~~ ¢Q7532 S 21~21 983
E ~1~21 #QJ6 E ~~1~~ &QT6
W ~1~31 ~~1~~
# 3 o J52 4SW4 620 Mean: 4SW-2 200 60 1 |[|# 4 a3 3HN4 -170 Mean: 2HXN4 1070 130 1
v Q7 2NE-1-100 -40  4SW-1 100 40 1 v AKJ82 3HN4 -170 190 A 00 2
+ KT952 Dif: 720 NS:4 3DN3 110 40 1 ¢ AJTT72 Dif: 0 NS:-1 3HN4 170 1.0 2
& KQ5 IMP: 12 EW:11 2NE-1 100 40 1 & 85 IMP: 0 EW:1 2HN4 170 1.0 1
» A964 » K873 A 00 2 ||as AK85 & QT76 2DN4 130 -20 1
v T8 v AK32 3DN-1 50 00 2 ||eT9 + v 763 3SE-1 100 3.0 1
¢ Q84 7 25W2 410 20 1 ||e Q54 * 83 25W2 110 7.0 1
& JT76 a A984 4swa 620 -11.0 1 ||& AK76 & QJ93 2SE2 410 7.0 1
F*eVAN L,QT oo VAN 4 JO42
N ~21~~ «J9654 N ~44~~ Q54
S ~21~~ ¢AJG3 S ~4 4~ ~ ¢ KO
E 3~~41 a32 E 3~~2~ &T42
W 3 ~~41 3 ~~2~
#5 42 3SE4 170 Mean: 3HN-1 100 50 1||#6 & 9754 4SXN-2 300 Mean: 2CE-1 100 70 1
v KT9432 4SXW4 590 -300 3SE4 170 40 1 v 983 3DXE3 670 -190  1NS1 90 70 1
¢ Q43 Dif: -420 NS:-7 4HS-2 200 3.0 1 ¢ T8732 Dif: -370 NS:-10 2HS-1 50 40 1
& QJ IMP: -9 EW:-4 4HN-2 200 3.0 2 % 6 IMP: -9 EW:3 4SN-2 100 3.0 1
4 QT98 a KJ75 A 00 2 (|a2 & QJ83 A 00 2
v38 v A5 4SE4 420  -3.0 1 ||e T7542 — vJ 4SXS-2 300 -3.0 1
¢ KT2 * 9875 4SXW4 590 7.0 2 ||e Q654 * AKJ9 4SXN-2 300 3.0 2
& AKT52 » 983 & QT8 & AJ93 3DXE3 -670 -10.0 1
* ¢V AN ,AG3 %oV ABN 4 AKTO
N ~~2~~ 9»QJ76 N ~~12~ v AKQ6
S ~~2~~ ¢AJ6 S ~~12~ o
E 43 ~4~ #764 E 12~~1 &K7542
W 43 ~4~ ~1~~1
#7 a5 3NS4 -630 Mean: 3NS4 630 40 1 |[|# 8 o J743 3NE5 460 Mean: 6DE-1 50 70 3
v KQ3 4SXE-2 -500 500  3NS3 600 3.0 4 v QJ 3NW5460 -260 A 00 2
« AK542 Dif: -130 NS:0 3NN3 600 3.0 1 ¢ 754 Dif: 0 NS:-5 3NW5 460 -50 4
& KQ75 IMP: -4 EW:-4 A 00 2 & A964 IMP: 0 EW:5 3NE5 460 5.0 1
& T976 & AJ832 4SXE-2 500 00 1 & AK98 a6
v J9862 + v5 5081 100 120 1 ||w 932 v AK75
¢ 9 ¢ J873 + Q83 ¢ AKJT2
& J94 S » AT8 & KJT » Q82
Fo VAN o, KQ4 oo VAN 4 QT52
N 252 ~4 9AT74 N ~~~~~ v T864
S 242 ~4 4QT6 S ~~~~~ ¢ 96
E ~~~~~ & 632 E ~54~5 &753
W o~~~ ~ ~ ~54~5
#9 & K742 5CXS-1 100 Mean: 5HW-1 100 50 2 ([|# 10 4 K654 1NS-1 100 Mean: 4SXE-2 500 9.0 1
v T73 5CS-150 -80 5CS-1 50 1.0 1 v Q73 1NS2-120 100  1NS2 120 1.0 1
* Q5 Dif: 50 NS:1 A 00 2 * 64 Dif: 220 NS:1 A 00 2
& AT92 IMP: 2 EW:1 5CXS-1 100 1.0 1 » KQ82 IMP: 6 EW:5 3CS3 110 00 1
o AT & QJ985 5CXN-1 100 1.0 1 ||as J83 & ATI972 1NS1 90 00 3
v AKQJ92 v 864 3HW3 140 20 1 v K8 _I_ v T642 1NS-1 100 -50 1
+ J864 * KT7 3HW4 470 -3.0 1 ||e AJO72 ¢ T8 1NN-1 4100 -5.0 1
® 4 a 73 6CXS-2 300 -60 1 ||a T64 a A7
o ¢VABN 4,63 o4VABN ,Q
N 4~~~~ 95 N 2~1~~ 9 AJ9S
S 4~~~ ~ ¢A932 S 3~1~~ ¢KQ53
E ~23 2~ &KQJ865 E ~2~21 #J953
W ~232~ ~2~21




v m
2 111 £ F >ABERFHLETRE ==> RO 2
#1: 3 BHE(32.57) #2: 6 LLI3E(26.66) #3: 5 itrwab(24.83)
2 NS: $J2:3% B (BHO) -8 5 NS: PRIERR FEESR(BAC) 12 VP:| 4.03 15.97 | Total VP: 13.64 Rank:
EW: &l SEBEEIC) -12 EW: fIRE #mzE(BO) 8 IMP:| 12 32 7
___
# 11 » AQ75 1NS190 Mean: 2SS3 140 40 1 [[|# 12 » Q97 5CXN-2 -500 Mean: 2CN4 130 40 1
v KJ876 25S2110 o0 2852 110 3.0 1 v Q652 2CN4130 o 4HW-2 100 30 3
* T4 Dif: -20 NS:3  1NS1 90 3.0 1 * Dif: -630 NS:-11 4HW-1 50 20 1
& 54 IMP: -1 EW:-3 2NE-1 50 20 1 & AT9865 IMP: -12 EW:-4 3HE-1 50 20 1
# K832 s J6 A 00 2||aT6 & AJ32 A 00 2
v A3 v QT942 1NS-1 50 20 2 ||e AK93 I v JT874 2DS-1 100 -3.0 1
¢ Q873 * KJ 28S-2 100 -3.0 1 ||e AQS82 ¢ T65 5CXN-2 500 -11.0 1
& T63 » AQ87 1NE2 120 -3.0 1 » QJ4 a2
dOVAN 4T % ¢V AN 4 K34
N ~1~11 @5 N 4~~1~w
S ~1~11 eA9652 S 4 ~~1~ ¢KJ9743
E ~~~~~ & KJ92 E ~~2~1 &K73
W ~ ~ ~ ~ ~ ~~2~1
# 13 » Q97 3NE-1 100 Mean: 3NE-2 200 50 1 ||# 14 aT 3NN3 400 Mean: 2SXE-4 800 10.0 1
v J76 3NE3 -600 20 3NW-1 100 20 1 v KQJ95 3NN3 400 330 3NN5 460 4.0 1
T4 Dif: 700 NS:2 3NE-1 100 20 5 ¢ AT65 Dif: 0 NS:2 3NN4 430 3.0 1
4.87432 IMP: 12 EW:12 A 00 2 & KJ3 IMP: 0 EW:-2 3NS3 400 2.0 1
& 543 ~ AKB 3NE3 600 -12.0 1 ||a 3 a J97652 3NN3 400 2.0 2
v K982 v Q54 v AT843 v 76 A 00 2
+ Q85 + ¢ K973 + KQ84 ¢ J93 6CS-1 -50 9.0 1
& QT9 » AKJ a T76 a Q2 3NN-3 -150 -10.0 1
oo VBN ,JT82 % ¢ VAN 4 AKQB4
N ~~~~~ v AT3 N 5~~~4 92
S ~~~~~ + AJB2 S 5~~~3 72
E ~22~2 a65 E ~~~~~ & A9854
W ~22~2 W o~~~
# 15 & KQJ9 4HN5 650 Mean: 4HS5 650 1.0 2 ||# 16 4 K32 4SS6 480 Mean: 4SS6 480 10 5
v A943 4HS5 650 630  4HN5 650 1.0 1 v J3 4SS6480 460 A 00 2
.6 Dif: 0 NS:1 A 00 2 + AQT8 Dif: 0 NS:1 4SS5 450 0.0 1
» KQ98 IMP: 0 EW:-1 4HS4 620 00 4 & J542 IMP: 0 EW:-1 4Ss4 420 1.0 2
& A43 # T852 4HN4 620 00 1 9 A T6
v 85 v QT2 v KQT765 — v 942
¢ A98543 ¢ QT7 * J97 ¢ 6432
& 63 » J72 » 98 & AT76
F¢VABN ,76 %o VABN 4 AJ8B754
N 5~5~3 ¢ KJ76 N 4~~65 wA8
S 5~5~5 ¢KJ2 S 4~~65 ¢K5
E ~~~~~ & AT54 E ~~~~~ & KQ3
W ~ ~~~~ W~~~ ~ -
# 17 » Q8 3SW3 -140 Mean: 4SXE-1 100 40 1 ||# 18 » K6 4DE5 -150 Mean: 4SS5 650 12.0 1
v J32 4SE-150 -60  4SW-1 50 30 1 v KT765 4SS5650 -80  5DE-1 50 40 1
¢ 98762 Dif: -190 NS:-2 4SE-1 50 30 3 ¢ 764 Dif: -800 NsS:-2 A 00 2
& QT4 IMP: -5 EW:-3 A 00 2 & J52 IMP: -13 EW:-12 4DE5 150 20 2
& JT532 a A9764 3SW3 140 -20 1 ||as 852 aQ 4DE4 4130 20 1
v T7 v Q54 3SE3 140 20 1 ||e AJ9 I v 84 3DE5 4150 20 1
¢ AT5 * KQ3 5HXS-3 500 -10.0 1 ||e QJ98 ¢ KT532 5DW5 400 -8.0 1
& A72 » 95 » K76 & AQT98 5DE5 -400 -8.0 1
OV ABN LK oo VAN 4, AJTI743
N 313 ~~ »AK986 N ~~341 Q32
S 313~~ ¢J4 S ~~341 ¢A
E ~~~3~ &KJ863 E 34~~~ a43
W ~~~3 ~ 34~~~
# 19 s 94 3NS3 400 Mean: A 00 2 ||# 20 s QJ2 2SW-1100 Mean: 3SW-3 300 30 1
v KQ6 3NS3400 400 3NS3 400 00 8 v T4 3CS4130 180  2SW-2 200 1.0 3
+ QT652 Dif: 0 NS:0 + AQJ87 Dif: -30 NS:-2 2SE-2 200 1.0 1
» K63 IMP: 0 EW:0 » J84 IMP: -1 EW:2 A 00 2
» AQJ83 aT72 # AK8754 »T9 3Ccs4 130 2.0 1
v 853 v J972 v 92 _I_ v AQ876 2SW-1 100 -20 1
¢ 73 ¢ 84 ¢ KT9 ¢ 654 2NN2 120 -20 1
& AJ4 » QT98 » Q3 & 975
P ¢ VBN 4 K65 o ¢VABN 463
N ~3~~1 vAT4 N 43 ~~4 v KJ53
S ~3~~3 ¢AKJ S 43~~4 ¢32
E1~~1~&72 | |E ~~~~~ & AKT62
w1 ~~1~ W~~~ ~ -




" i ==> R3
3 11 F<F > ABERFHLETRE == 3
#1: 6 LLIME(41.46) #2: 3 EXE(35.98) #3: 5 £ 4:45(35.97)
2 NS: SE4f4 £51§¥EGHO) -20 6 NS: BMS 4% BRISH(BAC) -2 VP:| 5.20 14.80 | Total VP: 18.84 Rank:
EW: g5 BRI EAC) 2 EW: [RK3h BRZEH(BAO) 20 IMP:| 11 26 9
I —
# 21 » KJ62 4SN6 680 Mean: 4SS7 710 40 1 |[# 22 s KT4 3NS-1-50 Mean: 3NS3 400 7.0 1
v T87 4SN5 650 570  4SS6 680 3.0 1 v T32 1NS2120 110 A 00 2
+ A976 Dif: 30 NS:3 4SN6 680 3.0 1 + K8 Dif: -170 NS:-4 1NS2 120 00 5
» J5 IMP: 1 EW:-2 4SS5 650 2.0 1 & JT732 IMP: -5 EW:0 3NS-1 50 4.0 2
# T843 s Q 4SN5 650 20 3 ||a J8732 s 95
v J6542 v Q93 A 00 2 ||v 987 — v AK54
*T83 | + KQJ2 6SN-1 100 -120 1 |[e QT65 » A97
T & 97432 a4 » Q965
o4 VBN 4 A975 ¢V ABN 4, AQ6
N 6~~76 vAK N 2~~~2 »QJ6
S 6~~76 54 S 2 ~~~2 ¢J432
E ~~~~~ & AKQ86 E ~111~ &AK8
W o~~~ ~ ~ ~111~
# 23 a Ad 4SS-1 -100 Mean: 3NS3 600 80 2 ||# 24 » 976 2SN-1-50 Mean: 1NN3 150 50 1
v QJ4 4SS-1-100 250  3NN3 600 80 2 v AJ7 3HE3 -140 -20  1NS1 90 30 1
+ KQ9763 Dif: 0 NS:-8 A 00 2 ¢ 952 Dif: 90 NS:-1  2DW-1 50 20 1
& 32 IMP: 0 EW:8 4SS-1 100 -80 4 & A843 IMP: 3 EW:3 A 00 2
& KQ72 a5 aJT & 5432 3CN-1 -50 1.0 1
v KT5 + v 9763 v T852 v KQ96 2SN4 50 40 1
¢ 82 ¢ T54 ¢ AKJ7 ¢ 843 3HE3 140 3.0 2
& Q974 S » AJT65 ~ QT7 » K6 2HE2 410 3.0 1
oo VAN o,JT9863 %o VABN o AKQS
N ~4~33 vA82 N 1~~1~ 43
S ~4~33 ¢AJ S 1~~1~ ¢QT6
E1~~~~ akK8 E ~33~1 &J952
W 1~~~ ~ ~33~1
# 25 » Q65 6HEG6 -1430 Mean: 5HE6 680 80 3 ||# 26 a AKJ 3NN3 600 Mean: 3NN4 630 1.0 2
v 83 5HEG6 -680 -1010 4HE6 680 80 1 v AK54 3NN3 600 600 A 00 2
¢ 642 Dif: -750 NS:-9 A 00 2 + 983 Dif: 0 NS:0 3NN3 600 0.0 6
& J7432 IMP: -13 EW:-8 4SXS-5 -1100 -3.0 1 & Q97 IMP: 0 EW:0
49 & AKT73 6HE6 -1430 9.0 3 ||a QT963 & 542
v JT6 v AK9542 v QT9 _I_ v 863
+ KQJ953 *T7 *A ¢ J7642
& 8 a5 » JT43 & A5
oo VBN 4, JT842 o ¢VABN 487
N ~~~~~ v Q7 N 434~4 9J72
S ~~~~~ + A8 S 434 ~4 ¢KQT5
E ~66~6 &KT9% E ~~~~~ » K862
w ~66~6 W~~~ ~~
# 27 » J8 3NN-1-50 Mean: 2SS3 140 40 1 ||# 28 » J98 3NW-4 200 Mean: 3NW-4 200 50 1
v AQJ8 3NN-1-50 -10  2NN2 120 40 1 v J754 2HE2 110 20  3NW-3 150 40 1
¢ 7543 Dif: 0 NS:-1 A 00 2 ¢ AT97 Dif: 310 NS:5 3NW-2 100 20 1
& 752 IMP: 0 EW:1 3NS-1 50 1.0 1 & J4 IMP: 7 EW:4 4HW-1 50 1.0 1
& 65 a A432 3NN-1 50 1.0 4 ||a Q65 a A742 3HE-1 50 1.0 1
v 654 v T732 3NN-3 4150 -40 1 ||e Q6 | v A9832 A 00 2
¢ AKJ62 ¢ T8 ¢ K85 ¢ Q6 1NW1 -90 3.0 1
& T63 » A84 » AK832 & T5 2HE3 140 40 1
L J S N » KQT97 LJ SN o KT3 2HE2 110 40 1
N 2~~31 ¢K9 N ~~~~~ v KT
S 2~~31 ¢Q9 S ~~~~~ ¢ J432
E ~~~~~ & KQJ9 E 2~321 &Q976
W o~~~ ~ ~ 2~32
# 29 s Q84 1HN2 110 Mean: 1NN2 120 2.0 2 ||# 30 s 92 2SXS-2 -300 Mean: 3NE-2 100 30 1
v T942 1NN2120 50  1HN2 110 20 1 v A72 2NE-150 -20  2NE-2 100 30 1
+ AB62 Dif: -10 NS:2 1NN1 90 1.0 3 o AT973 Dif: -350 NS:-7 3NW-1 50 20 1
» K8 IMP: 0 EW:2 A 00 2 & A94 IMP: -8 EW:-2 2NW-1 50 20 1
& KT53 \ s J62 1NN-1 100 -40 1 ||s A4 » KQ76 2NE-1 50 20 1
v AB53 v K8 1HN-1 100 -40 1 ||v Q84 v KT6 A 00 2
+ KQ9 + * J754 + QJ52 + K84 INW2 20 30 1
& Q9 & T752 » Q862 & JT7 2NW3 150 -4.0 1
% ¢ VABN 4A07 % ¢ VBN 4 JT853 2SXS-2 300 7.0 1
N 2~2~1 »QJ7 N ~~11~ »J953
S 2~2~1 ¢T3 S ~~11~ 6
E ~~~~~ & AJ643 E 11~~2 &K53
W o~~~ ~ ~ 11~~2




111# ¥

EXRABERFHRLET

®F

==> R4

2

#1: 6 LLIE(51.46) #2: 5 £ 44047, 11) #3: 9 FE45.43)

# KT9542
v T962
+ AK6

titwnd
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rtiNN2Z

NN
NN e

SmMnZ %

& A8762

SMNZ se<ed

—
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NS: $J2:3% BREFE(BEO) -3 7 NS: 2R3 5R{ZRA(EAC) -23 15.97 : 4.03 Total VP: 34.81 Rank:
EW: #iE T SEBEEIC) 23 EW: 17K EHE(BO) 3 IMP:| 27 : 7 7
. o
» AQ6 3CXE-1 100 Mean: 5DXW-3 500 11.0 1 [[# 2 s Q42 1SE1 -80 Mean: 1NXE-1 100 50 1
v Q84 4CXE-2300 © 4CXE-2 300 7.0 1 v 865 INW3 -150 -80 A 00 2
¢ J3 Dif: -200 NS:3 4CE-2 100 3.0 1 + K54 Dif: 70 NS:0 1SE1 -80 00 1
& AK932 IMP: -5 EW:-7 3CXE-1 100 3.0 1 & AJT8 IMP: 2 EW:2 1NW1 90 00 1
D) A 00 2 ||s AKB3 # J85 1NE1 9 00 3
v A 4HN-3 150  -40 2 ||w AJ42 I v 97 1NW3 150 20 1
¢ 18542 4HXS-2 300 <70 1 ||e T7 + AQ863 1NW4 180 -3.0 1
» QJT8765 3CXE3 -470 100 1 & 97 » 653
# J873 oo VABN o T97
v KJ753 N ~~~~~ v KQT3
¢ Q97 S ~~~~~ ¢ J92
&4 E ~2~21 &KQ2
~2~21
a KJT 3NW4 -630 Mean: 2HE5 200 80 1 ||# 4 a J82 3NW4 -630 Mean: A 00 2
v T873 3NW3 -600 -560 A 00 2 v Q9872 3NE4 -630 -630 5CE6 620 0.0 1
+ A96 Dif: -30 NS:-2 3NW3 600 1.0 1 ¢ Q87 Dif: 0 NS:0 4NW4 630 0.0 1
& 932 IMP: -1 EW:1 3NE3 600 1.0 1 & T6 IMP: 0 EW:0 3NW4 630 0.0 3
a 93 4HE4 620 -20 2 ||a6 a AKQ74 3NE4 630 0.0 1
v AK542 3NW4 630 -20 3 ||e KJT64 _|_ v5 3NW5 660 -1.0 1
¢ K ¢ AT53 * K9 3NE5 660 -1.0 1
» AQT74 » K95 a AB742
a Q54 oo VAN 4 T953
v J6 N ~~~~~ v A3
+ Q8753 S ~~~~~ ¢ J642
& J86 E 5~~~4 &QJ3
5~~~4
» Q98743 3HN-1-100 Mean: 5CE-1 50 60 1 ||# 6 4 85 3NW4 -630 Mean: A 00 2
v JT92 4CE4 -130 -180 4CE4 130 20 2 v AQ98 3NW4 -630 -640 3NW4 630 0.0 6
+ K3 Dif: 30 NS:2  3HN-1 4100 20 1 + 853 Dif: 0 NS:0 3NW5 660 -1.0 1
%6 IMP: 1 EW:-2 3CE4 130 20 1 » KQ83 IMP: 0 EW:0 3NW6 690 20 1
& AK A 00 2 ||a AQ7 & K964
v 76 1NE4 180 00 1 ||w J65 — v K32
* AJ5 3NW4 430 6.0 1 ||e AKQJ4 .76
& KJ9732 3NE3 -400 -6.0 1 & A4 & JT72
aT oo VABN 4 JT32
v AK43 N ~~~~~ v T74
+» Q97642 S ~~~~~ ¢ T92
* QT E ~4~44 #2965
~5~45
» J764 3SS3 140 Mean: 4SS4 620 100 1 |[|# 8 # 65 4HS-1-50 Mean: 4SXE-3 500 8.0 1
v A3 4SS-1-100 170 A 00 2 v AT96 5HXN-2 -300 170  4HS5 450 7.0 1
+ AK4 Dif: 240 NS:-1 2SS4 170 0.0 1 ¢ J2 Dif: 250 NS:-6 4HN5 450 7.0 1
& Q865 IMP: 6 EW:7 3SS3 140 1.0 3 & AKJ63 IMP: 6 EW:10 4HS4 420 6.0 1
a T5 3SN3 140 1.0 2 |[|a KJT8 a AQ432 A 00 2
+ v QT876 45S-1 100 -70 1 ||e3 v KQ8 4HS-1 50 6.0 1
¢ JT3 ¢ 984 ¢ 765 4HN-1 -50 6.0 2
S » AK9 a 97542 a T8 5HXN-2 300 -10.0 1
& KQ982 oo VAN 4,097
v 92 N ~33~2 »J7542
¢ Q972 S ~33~2 ¢ AKQT3
& 74 E~~~1~ aQ
~ o~ o~ 1 ~
sJ 4SE5 -650 Mean: A 0.0 2 |[|# 10 s Q7 5CN5 600 Mean: 4HS5 650 4.0 1
v QT9432 4SE4 -620 -620 4SE4 620 00 7 v 6CN-1-100 520 3NS4 630 3.0 1
¢ J4 Dif: -30 NS:-1 4SE5 650 -1.0 1 + A75 Dif: 700 NS:2 5CN5 600 20 5
& A975 IMP: -1 EW:0 & KJT97432 IMP: 12 EW:12 A 00 2
& AQT842 & T963 # J852 6CN-1 100 120 1
vJ v 95 _I_ v AT632
¢ Q5 * K62 ¢ 983
» K632 » Q865 & A
4 953 e VAN 4 AK4
v K8 N 555~ 3 » KQJ874
o AT98762 S 555~3 ¢ QJT4
*J E ~~~~~ *
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5 11&#F<F2ABERFHLEFEE = RS 5
#1: 6 LLIYE(61.46) #2: 5FE 4:103(57 11) #3: 7T TW Open(56 54)
2 NS: SB4f4 £51§¥EGHO) 23 8 NS: At 4 RH5185(BAC) -9 VP:| 17.51 2.49 Total VP: 52.32 Rank:
EW: &5 BRwEIEEAC) 9 EW: Ri55 BEE(BAO) -2 IMP:} 39 : 11 5
— I -
# 1 a74 3NE-150 Mean: 3NE-1 50 70 3 |[|# 2 » KT9 1NE-4 200 Mean: 1NE-4 200 40 2
v AK976 3NE4 -430 -240 A 00 2 v A974 1NE1-90 70  1NE-3 150 2.0 1
¢ 972 Dif: 480 NS:7 3NE3 400 -40 2 ¢ KQT7 Dif: 290 NS:4 1NE-2 100 1.0 2
& AKT IMP: 10 EW:5 3NE4 430 50 3 » K9 IMP: 7 EW:4 A 00 2
& AKQJ5 s T8 # 876 » QJ542 1NE-1 50 1.0 1
v 2 v QT54 v T6 I v Q52 1SE1 80 40 1
¢ AJ54 + KQ8 ¢ J942 ¢ A5 1NE1 90 4.0 1
& Q73 & J942 » T872 » AQJ
%o ¢ VAN 49632 FOVAN 4, A3
N ~~~~~ v J83 N ~44~4 ¢ KJB3
S ~~~~~ ¢ T63 S ~34~3 #2863
E 34~43 %865 E ~~~~~ * 6543
w 34~43 W ~~~~~
# 3 a2 4HS-2 -100 Mean: 4SXW-1 200 60 1 |(|# 4 » Q763 3NE5 -660 Mean: A 00 2
v AT842 4SXW-1200 -60 2DE-2 200 60 1 v AQ 3NE5 -660 -660 3NE5 660 0.0 8
¢ 93 Dif: -300 NS:-1  4SW-1 100 40 1 + K63 Dif: 0 NS:0
& KQ943 IMP: -7 EW:6 A 00 2 & QT65 IMP: 0 EW:0
& AQT98 & 743 3HN-1 -50 00 1 & KJ4 & AT9
v5 v 9763 4HS-2 4100 1.0 1 ||e J6 + v KT9
¢ KQJ ¢ A754 3sw3 140 20 2 [|e AJ984 ¢ QT2
& AJT8 s 75 4SW4 620 -11.0 1 ||& J43 a AK92
% ¢ VAN 4, KIS oo VABN 4852
N ~~2~~ ¢KQJ N ~~~~~ v 875432
S 1~2~1 ¢T862 S ~~~~~ ¢ 75
E ~1~3~ a62 E 45~~5 87
W ~1~3~ 45~~5
#5 & K7632 4HW-1 50 Mean: 4HW-1 50 70 3 (|# 6 a T2 3NS-1-50 Mean: 3HN3 140 20 1
v9 4HWS5 -450 -240 A 00 2 v Q9765 1NN190 60  2DS2 90 1.0 3
¢ T743 Dif: 500 NS:7 4HWS5 450 -50 1 *5 Dif: -140 NS:-3 1NN1 90 1.0 2
& AT7 IMP: 11  EW:5 4HW4 420 50 3 & KQJ97 IMP: -4 EW:-1 A 00 2
& AJB4 a QT 4HE4 420 -50 1 ||a AJ9 » KQ84 3NS-1 50 3.0 1
v K832 v QJ764 v AT84 — v 32 2DS1 -50 3.0 1
+ AQ5 * 962 * A32 ¢ T874
& K3 » QJ9 & T53 & 862
¢V ABN 495 oo VAN 4 7653
N 1~~~~ 9AT5 N 3~2~1 KJ
S 1~~~~ ¢KJ8 S 3~2~1 ¢KQJ%
E ~~3~3 #86542 E~~~1~ &AM
W ~~3~3 ~~~1~
#7 » AQ93 4SS6 680 Mean: 4SS6 680 1.0 1 |[|# 8 » 852 3NS4 430 Mean: 3NS4 430 2.0 3
v KQT 4S5S4 620 650 A 00 2 v J876 3NS3400 350 3NS3 400 2.0 4
+ 54 Dif: 60 NS:1 5SS5 650 0.0 2 * AJ Dif: 30 NS:2 A 00 2
& AT53 IMP: 2 EW:1 4SS5 650 0.0 4 & J943 IMP: 1 EW:-2 3NS-1 50 9.0 1
& 854 a7 4Ss4 620 1.0 1 & JT93 & K76
v AJ963 + v 842 T2 v KQ43
¢ 72 ¢ KQJT83 ¢ 843 + Q965
& Q92 S » 864 » Q652 aT7
L BN o, KITE2 oo VABN o AQ4
N 6~~55 975 N 4~5~4 A%
S 6~~55 ¢A9% S 4~5~ ¢ KT72
E ~~~~~ & KJ7 E ~~~~~ & AK8
W ~~~~~~~~~~
#9 & KJT93 4SXN-2 -300 Mean: 5HE-1 100 110 1 [[|# 10 & KT84 4SS4 620 Mean: 4SS5 650 20 3
v 5HE5 -650 -440  6CXN-1 100 80 1 v A6 4SS4 620 570 4SS4 620 2.0 4
» AB72 Dif: 350 NS:4 4SXN-2 300 40 1 ¢ AT62 Dif: 0 NS:2 A 00 2
& AQJ5 IMP: 8 EW:5 A 00 2 & A85 IMP: 0 EW:-2 5HXE-1 200 9.0 1
s Q2 #» A876 5HE5 650 -50 1 ||a Q75 »
v KJT87542 v A96 4HW5 650 -50 2 || KT52 _I_ v QJ9873
o T * KJ53 4HE4 620 -50 1 ||e 84 * K753
& 43 & K7 4HW6 -680 6.0 1 » KQT6 & J97
FOVAN 4,54 % ¢ VAN 4 AJ96G32
N 43~2~ Q3 N ~2~43 w4
S 43 ~1~ ¢Q94 S ~2~43 ¢QJ9
E ~~4~3 #T9862 E 1~4~~ 432
W ~~5~4 1~4~~




* e ==> R6
6 11 FF >ABERFHLETRE == 6
#1: 7 TW Open(70.82) #:2TW M1xed(67 37)#3: 6 [J_I(66 66)
2 NS: Sogf4 22185EBE0) 4 9 NS: #IEF 58/ (BAC) -1 VP:| 15.05 : 4.95 Total VP: 67.37 Rank:
EW: &g REBEAC) 1 EW: &iil55 BRiEF%(BAO) -4 IMP:| 35 19 2
—
# 11 » AKT864 4HW-1 50 Mean: 5CE-3 150 3.0 1 |[# 12 » 86 6HW-2 100 Mean: 7HW-2 100 50 1
v 98 2SN-2 -100 40 4HW-2 100 20 1 v QJ86 6HW-150 -110 6HW-2 100 50 2
92 Dif: 150 NS:0 3NW-2 100 20 1 ¢ 6 Dif: 50 NS:5 6HW-1 50 40 4
& Q73 IMP: 4 EW:4 A 00 2 & QJT943 IMP: 2 EW:-4 A 00 2
s Q5 » J93 4HW-1 50 00 1 ||a AKQT9 a5 3DXS-5  -1400 -150 1
v AKQJ6 v 74 3NW-1 50 00 2 ||w K743 I v AT52
¢ QJB3 * K5 2SN-1 50 30 1(|e9 ¢ AKT74
& JT » A86542 2SN-2 100 -40 1 K8 a A72
F*OVABN 4,72 oo VAN 4 J7432
N ~~~1~ ¢T532 N ~~~~~ v9
S ~~~1~ ¢AT874 S ~~~~~ ¢ QJ8532
E 2~2~1 &K9 E ~~5~6 &6
W 2 ~2~1 ~~5~5
# 13 # J76 4SW4 -620 Mean: 4SW4 620 1.0 5 ||# 14 o T987 4SE4 -420 Mean: 4HW-2 100 6.0 1
v2 4SE5-650 -650 A 00 2 v AK3 4HW-150 -130 4SE-1 50 50 3
Dif: 30 NS:1 4SE5 650 00 2 ¢ K Dif: -470 NS:-7 4HW-1 50 50 1
.;QJ86532 IMP: 1 EW:0 5CXN-3  -800 -40 1 & K5432 IMP: -10 EW:-5 A 00 2
& AK954 & QT82 a & AKQJ543 4SE4 420 7.0 2
v 83 v QT76 v QJT9875 v 6 5CXN-3  -500 9.0 1
+ KQ5 + * A762 ¢ AJB52 ¢ 73
& AT7 a9 a7 » A96
o ¢VAN oo VAN 4,62
N2~~~~vAKJ954 N 2~~~~ 942
S 2~~~ ~ ¢J943 S 2~~~~ ¢ QT984
E ~3~53 akK4 E ~2333 &QJT8
W ~3~43 ~2333
# 15 & KQJT743 4SXN-2 -500 Mean: 3SN-1 100 50 1 ||# 16 s J974 3NE-1 100 Mean: 3NE-1 100 9.0 2
v 2SN-1-100 -280  2SN-1 100 50 1 v 96 3NE3 -600 -270 2CS2 90 80 1
+ KQ6 Dif: -400 NS:-6 4SN-2 200 20 1 ¢ AQT32 Dif: 700 NS:9 2SwW2 110 4.0 1
» QT3 IMP: -9 EW:-5 3SN-2 200 20 2 » 98 IMP: 12 EW:8 A 00 2
& AB52 » 98 3HS-2 200 20 1 ||s KQ83 # T652 3NE3 600 -80 4
v 4 v A98762 A 00 2 ||v QJ8 — v AKT
o AJT ¢ 95 4SXN-2 500 -6.0 1 ||e 865 * KJ9
& AK954 » J76 4SXN-3 800 -11.0 1 ||& 753 » AQT
FOVAN , oO¢VABN LA
N ~2~1~ ¢ KQJT53 N 1~~~ ~ o 75432
S ~2~1~ ¢87432 S 1~~~~ o74
E 2~~~1 882 E ~~~22 &KJ642
W 3~~~ ~ ~~~21
# 17 & 98652 4HW-1 50 Mean: 4HW-1 50 9.0 1 ||# 18 a7 3HN4 170 Mean: 3HN4 170 50 2
v AQ5 4HW4 -420 -340 2HW3 140 50 1 v AKQJ9 4CS4130 o0 4Cs4 130 40 1
* 82 Dif: 470 NS:9 A 00 2 ¢ 9754 Dif: 40 NS:5 4SXE-1 100 3.0 1
& KQ5 IMP: 10 EW:2 4HW4 420 -20 5 & AK4 IMP: 1 EW:-4 A 00 2
a7 a AT43 4HXW4 590 -6.0 1 ||a K52 a QJT963 4HN-1 100 -3.0 2
v KJ8732 v T96 v 5432 I v38 3SE3 140 40 1
¢ Q5 + AK96 ¢ AJT2 ¢ KQ8 4HN-2 -200 -5.0 1
& AJ94 » 62 » 82 » QJ5
P ¢ VBN o, KQJ oo VAN 4, A8
N ~~~1~ 94 N 4~3~2 ¢T76
S ~~~1~ ¢JT743 S 4~3~2 463
E ~~4~1 aT873 E ~~~3~ &T9763
W o~ ~4 ~1 ~~~3~
# 19 4 AKT84 3CS4 130 Mean: 3NN4 430 70 1 |[|# 20 & AJT853 4HXE4 -790 Mean: 4HE-3 300 80 1
v AKJ 3NN-1-50 130  3NN3 400 7.0 1 v T A -50  3NW-1 100 40 1
+ Q954 Dif: 180 NS:0 2DN6 170 1.0 1 ¢ T7 Dif: 0 NS:-12 2SN2 110 40 2
%6 IMP:5 EW:5 A 00 2 » KJ84 IMP: 0 EW:0 A 00 3
& Q96532 »J7 3Ccs4 130 0.0 2 ||a KQ72 a9 3DW3 410 20 1
v Q9 v 87642 3SN-1 -50 50 1 v KJ3 _I_ v Q9872 2NW2 120 2.0 1
¢ J2 * KT7 3NN-1 50 -50 1 ||e K8654 * A93 4HXE4 790 120 1
® QJ3 a A92 3SN-2 100 60 1 || » 9765
FOVAN , o ¢VABN 4,64
N 44~~3 9T53 N 2 ~~2~ v A654
S 34 ~~2 ¢A863 S 2~~2~ ¢QJ2
E ~~~~~ & KT8754 E ~34~1 &QT32
W~ ~ ~ ~ ~ ~34~1




ME#E<F2RABERFHLETHE

==> RT

#1: 4 Infinity(82.45) #2: 6 LUYG(79.17) #3: 5 1 4:45(79.11)

s T7632

v
+ Q876
& 97

Smnz
NN
=11 e
tlwwd
IR QRN Y
llwwZ

# 25

1IN e
tir1oad
N2
112z

=1 4
LINNY
tLIN=-2Z

NS: S4f4: 251§ ¥EGHO) -34 4 NS: BRZ<F MigF(BAC) 30 VP:| 0.00 20.00 | Total VP: 67.37 Rank:
EW: #iET SEBEEIC) -30 EW: B 2I2E(B0) 34 IMP:| 11 62 6
I I
a8 3NW4 -430 Mean: 6CE-2 100 7.0 1 [[|# 22 s JT97 2HE-1 100 Mean: 2HXE-1 200 2.0 1
v JT63 5CXE-1100 -200 5CXE-1 100 7.0 1 v38 2NS2120 150  2HE-2 200 20 3
¢ 8532 Dif: -530 NS:-6 4HW-1 50 60 1 o J842 Dif: 20 NS:-2 A 00 2
& AB75 IMP: -11 EW:-7 4CE4 130 20 1 & AK87 IMP: -1 EW:1 2NS2 120 1.0 1
s Q A 00 2 ||s AB654 s Q2 2HE-1 100 20 3
v Q2 3NW4 430 60 4 ||w75 — v AQJ642
| * AJT4 + K63 + 975
& QJT962 » J95 & QT
& KT96542 FOVAN 4, K3
v 98 N 33 ~~3 »KT93
+ KQ9 S 33~~3 ¢AQT
» K E ~~~~~ &» 6432
» Q98 3CE3 -110 Mean: 2HN4 170 2.0 1 ||# 24 » J6 2SW3 -140 Mean: 3SN3 140 50 1
v AKQ92 1NN4 180 110  1NN4 180 2.0 2 v Q52 1NE4 -180 -40  3SW-1 50 30 3
¢ 543 Dif: -290 NS:-6 3HN3 140 1.0 2 ¢ A93 Dif: 40 NS:-3 A 00 2
& A6 IMP: -7 EW:-2 2HN3 140 1.0 1 & QJ862 IMP: 1 EW:4 2SW3 140 3.0 2
a K A 00 2 ||a AQ872 a T54 2NE4 180 40 1
+ v T64 3CE-1 100 00 1 ||v K76 v AJT9 1NE4 180 40 1
* AKJ 3CE3 410 60 1 ||e QJ4 * K75
S » KQ8432 a K97
» AJS4 e VAN 4, KI3
v J73 N ~~~~~ v 843
¢ T92 S ~~~~~ + T862
& JT5 E ~~332 &A53
~~332
43 3SW-2 200 Mean: 4HN5 450 30 5 ||# 26 a9 4SE4 -620 Mean: 4SE-1 100 70 5
v AK9852 4HN5 450 350 A 00 2 v J73 4SE-1100 -170 A 00 2
o JT Dif: -250 NS:-4 3SW-2 200 -40 1 ¢ K983 Dif: -720 NS:-10 4SE4 620 -100 3
» K865 IMP: -6 EW:-3 3HN5 200 -40 1 & AJBB3 IMP: -12 EW:-7
» K642 2HN5 200 -40 1 ||s Q876 & AKJT52
v Q4 v AB52 _I_ v Q94
+ AQ8 * AJ52 ¢ Q7
& 9743 K & T7
& AJ7 oo VAN 4143
v JT7 N ~~~~~ v KT8
o K5432 S ~~~~~ ¢ T64
& JT E ~~242 & Q9542
~~242
aT 6HW-150 Mean: 6HW-1 50 80 2 ||# 28 a8 3NE3 -400 Mean: 4SW-3 150 6.0 1
v Q7 4SE4 -420 310 A 00 2 v AJ874 4HW-150 -90  4HW-2 100 50 1
‘ T987432 Dif: 470 NS:8 4SE4 420 3.0 2 ¢ QT975 Dif: -450 NS:-7 3CW-2 100 50 1
& AT7 IMP: 10 EW:3 4HW4 420 30 1 & 97 IMP: -10 EW:-4 4HW-1 50 40 1
~ A8653 4HW5 450 -40 2 ||a AK762 a 95 A 00 2
v J4 3NE5 460 -40 1 ||w K963 | v QT2 2NE2 120 1.0 1
¢ KQ ¢ AK + 864 3DN-2 200 -3.0 1
» KJ42 » Q5 & KJ632 3NE3 -400 -7.0 1
& QJ42 oo VAN 4 QJT43 2HN-4 -400 -7.0 1
v T83 N ~1~~~ 5
¢ J5 S ~1~~~ ¢J32
& 9653 E 2~222 a&AT84
2~222
4 643 2DN-2 -200 Mean: 3NS3 600 10.0 2 ||# 30 473 3NE-2 100 Mean: 3NE-3 150 50 1
v T7 3NS3600 140 A 00 2 v 74 3CW-3150 -30 3CW-3 150 50 1
* Q92 Dif: -800 NS:-8 2NS3 150 0.0 1 ¢ A732 Dif: -50 NS:4 3NE-2 100 40 2
* AKJT6 IMP: -13 EW:-10 2SS2 110 1.0 1 & QJ732 IMP: -2 EW:-5 3CW-2 100 40 1
s T97 1NN2 120 1.0 1 |[|a AT » Q984 A 00 2
v 942 3NS-1 100 -60 1 ||w 98 v AQJT5 2HE2 110 20 1
+ ¢ A8743 3CS-1 100 60 1 ||e QT9 * J86 3NW3 400 9.0 1
» 32 2DN-2 200 -8.0 1 ||& AKT865 a4 3NE3 400 9.0 1
& AQ52 % ¢ VAN 4 KIG52
v KQJ N ~~~~~ v K632
¢ 65 S ~~~~~ ¢ K54
& Q974 E 1 3~2 &9
1~3~2




: i ==> R8
8 11 FF >ABERFHLETRE == 8
#1: 4 Infinity(99.79) #2: 6 LLIYG(84.63) #3: 5 =~ 4-473(84.06)
2 NS: (B80) 0 10 NS: (BAC) 0 VP:| 10.00 : 10.00| Total VP: 77.37 Rank
EW: (HC) 0 EW: (F0) 0 IMP:] 0 : 0 6
# 1 aJ A Mean: 4HXXS4 880 100 1 ||# 2 a8 A Mean: 3SE3 140 1.0 3
v AQJ72 A 420  4HXS5 690 7.0 1 v KT94 A -180  2SE3 140 1.0 1
¢ 643 Dif: 0 NS:0 4HXN4 500 50 2 ¢ QJ874 Dif: 0 NS:0 1SE3 140 1.0 1
» 7652 IMP: 0 EW:0 4HS5 450 1.0 2 » QJ2 IMP: 0 EW:0 A 00 2
# 9632 s Q74 A 0.0 2 ||asAQJT & 97432 3sw4 4170 0.0 1
v v T86 4HN4 420 00 1 ||w J63 I v A5 3SE4 470 0.0 1
* AKJ + QT9872 5CXW6 650 -14.0 1 ||e T96 + AK5 4SW4 420 6.0 1
& AKJT84 & 9 & K96 & T74
o4 VBN 4o AKTS8S ¢ VAN 4 K65
N ~ ~ 4 ~ ~ ¢ K9543 N ~~2~~ »Q872
S ~~4~~ 45 S ~~2~~ ¢32
E 44~~~ 403 E ~~~32 %A853
W 44~~~ ~~~33
# 3 a T82 A Mean: 3SE-3 300 60 1 |(|# 4 & KJ653 A Mean: A 00 2
v J52 A 70  3NW-3 300 6.0 1 v 942 A 640 4SS5 650 0.0 3
+ K8 Dif: 0 NS:0 1NW-1 100 1.0 3 ¢ T5 Dif: 0 NS:0 4SN5 650 0.0 3
& AQ974 IMP: 0 EW:0 A 00 2 & J95 IMP: 0 EW:0 4SS4 620 1.0 1
s Q3  J976 2DW2 90 40 2 ||a 974 a2 4SN4 620 1.0 1
v AQT9 v K3 1NW1 -90 40 1 ||e T876 + v K53
¢ AQ972 ¢ J53 ¢ Q94 ¢ AK863
& K3 » 8652 » 64 » T872
%o ¢ VAN o AKHS o VABN 4, AQT8
N 1~~1~ v8764 N 5~~52 »AQJ
S 1~~1~ ¢T64 S 5~~52 472
E ~2~~~ &JT E ~~~~~ & AKQ3
W ~2~~~ W~~~
#5 a4 J5 A Mean: 5HS-2 200 9.0 1 ||#6 # 98753 A Mean: 4SE7 710 120 1
v J7653 A -570 5HS-3 300 7.0 1 v K85 A -1450 6DW7 1390 2.0 1
* AQT2 Dif: 0 NS:0 4SE6 480 3.0 2 * 84 Dif: 0 NS:0 A 00 2
» 84 IMP: 0 EW:0 A 00 2 & QT3 IMP: 0 EW:0 6NW7 1470 1.0 1
s T762 » KQ843 5SXE6 750 -50 1 A » KQJT4 6NE7 1470 1.0 4
v KT2 v 4SXE6 790 -6.0 3 ||w AQJO7 — v 63 TNW7 2220 -13.0 1
+ J98653 ¢ AKQJ7 ¢ 32
& AQ6532 & JT & 62 & AK85
F* VAN oA o ¢VABN 462
N ~~2~~ vAQ984 N ~~~~~ v T42
S ~~2~~ ¢K74 S ~~~~~ + 7965
E 4~~5~ &Ko7 E ~76~7 &J974
W 4 ~~5~ ~76~7
#7 » A7 A Mean: 3NN5 660 7.0 1 |[|# 8 » J972 A Mean: 5DW-3 150 6.0 1
v AKJ32 A 370 3NN4 630 60 3 v J8753 A 110 5DW-2 100 50 1
+ AQ3 Dif:0 NS:0 A 00 2 ¢ 72 Dif: 0 NS:0 3SS-1 50 20 1
& K86 IMP: 0 EW:0 1HW-3 300 -20 1 & K4 IMP: 0 EW:0 A 00 2
QT # J9854 1NN4 180 50 1 [|aA ~ T84 4DW4 130 1.0 1
v QT9876 + v5 1SN 80 70 1 ||vnAes v T92 4DE4 430 0 1
+ K9 ¢ J842 3NN-1 100 -10.0 1 ||e K96543 * AJ8 2DW4 130 1.0 1
& A43 S » J95 a JT7 a A532 4SXS-2 300 5.0 1
¢ VABN ,K632 % ¢ VAN 4, KQ653 3NE3 -400 -7.0 1
N55~~4 w4 N ~~~2~ vKQ
S 55~~4 471765 S ~~~2~ QT
E ~~~~~ « QT72 E 24~~3 &Q986
W~~~ ~ ~ 24~~3
#9 » JT974 A Mean: 4HW-1 100 11.0 2 ||# 10 4 AJ5 A Mean: 2SS3 140 40 1
w5 A 430 A 00 2 v T5 A 10  4HEA 100 30 1
* AJB6 Dif: 0 NS:0 4HW4 620 -50 4 ¢ JT73 Dif: 0 NS:0 3HW-1 100 30 1
» 964 IMP: 0 EW:0 3NW4 630 -50 1 & QJT5 IMP: 0 EW:0 3CW-1 100 30 1
& AK32 s Q8 3NW3 600 50 1 ||a Q76 » K2 2852 110 30 2
v J983 v K7642 v A972 _I_ v KJ863 A 00 2
¢ KT ¢ Q43 ¢4 + K962 3HW4 170 40 1
& AJT » Q83 & A8632 & 74 4HE4 -620 -12.0 1
¢VABN 465 oo VAN 4 T9843
N ~ 1~~~ «AQT N ~2~1~ Q4
S ~1~~~ 49752 S ~2~1~ ¢AQ85
E ~~4~2 K752 E 1~4~~ K9
W ~~4~2 1~3~~




9

1#FEE 2RABERFHL

EFRFE

==> R9

#1: 4 Infinity(119.79) #2: 6 LLI3(92.45) #3: 2 TW Mixed(92.17)

2 NS: €43 BEE3EGH0) 19 3 NS: ##88 BB (BAC) -2 VP:| 14.80 : 5.20 | Total VP: 92.17 Rank:
EW: &g SEBEAC) 2 EW: ¥ 518 F5IE(BRO) -1 IMP:| 21 6 3
I
# 11 a 1632 6HW-150 Mean: 6HW-1 50 12.0 2 ||# 12 s 95 2SW2 -110 Mean: 2DS4 130 50 1
v3 6NE6 -990 -670 3NE6 490 50 1 v AKT8 2SW3 -140 -40  1NN3 150 50 1
* K942 Dif: 1040 NS:12 A 00 2 + K864 Dif: 30 Ns:2 A 00 2
» 1742 IMP: 14 EW:8 6HW6 980 7.0 1 » 963 IMP: 1 EW:3 1HE1 80 1.0 1
4 85 & AK7 6NE7 -1020 -8.0 1 ||a QJT2 & AKB3 25W2 110 20 4
v AKJ8642 T 6NE6 990 -80 3 ||w42 I v J7653 2SW3 140 3.0 1
¢ 83 + AQ75 + J93 *2
& K8 » AQJ95 » QJT2 » A84
oV ABN 4, QM o ¢VABN 4874
N ~~~~~ v Q975 N ~4~~2 »Q9
S ~~~~~ ¢ JT6 S ~4 ~~2 ¢ AQT75
E 656 ~6 #63 E 1~~2~ &K75
W 656 ~6 1~~2~
# 13 aT5 4HNG6 680 Mean: 4HN7 710 1.0 1 ||# 14 » QJB53 5CE-150 Mean: 3NE-2 100 50 1
'AJ9532 4HNG6 680 680 A 00 2 v T9632 3NW-150 -100 5CE-1 50 40 1
Dif: 0 NS:0 4HN6 680 00 7 o AJ7 Dif: 0 NS:4 3NW-1 50 40 1
.|.AT765 IMP: 0 EW:0 & IMP: 0 EW:-4 3NE-1 50 40 1
& Q96 & J73 a K & AT62 2SE-1 50 40 1
v Q4 v 86 v AQJ7 v A 00 2
¢ T8532 + ¢ AKJ6 ¢ K85 + Q962 2SXN-2 -300 -5.0 1
& Q94 a KJ32  J7632 » A9854 5CW5 400 7.0 1
¢V BN ,AKBE2 ¢V BN 974 3NW3 400 -7.0 1
N ~~653 ¢KT7 N ~~~~~ v K854
S ~~653 ¢Q974 S ~~~~~ ¢ T43
E ~~~~~ &8 E 53 ~~2 a&KQT
W ~ ~ ~ ~ ~ 53 ~~2
# 15 » Q952 3SE4 -170 Mean: 4SE-1 50 70 2 ||# 16 s Q754 2SN3 140 Mean: 2SN3 140 40 2
v 74 3NE4 -430 -240 3SE4 470 2.0 1 v J4 2SN3140 O 2SN2 110 30 1
¢ T86 Dif: 260 NS:2 2SE4 470 20 1 ¢ JT8 Dif: 0 NS:4 1NW-1 100 30 1
» J864 IMP: 6 EW:5 A 00 2 & AQ64 IMP: 0 EW:-4 A 00 2
4 T86 a AJ743 4SE4 420 50 3 ||a A3 & JT6 2HW2 410 3.0 1
v QT v 52 3NE4 430 50 1 ||w KQ985 — v T76 1NW2 120 -3.0 1
* KQ943 * AJ7 * K2 + Q965 1NW1 90 3.0 1
& A5 » K73 & KT73 & J98 1HW2 110  -3.0 1
F*O¢VABN ,K oo VAN 4 K82
N 1 ~1~~ « AK9863 N ~2~31 vA32
S 1~1~~ ¢52 S ~2~31 ¢A743
E ~4~43 &QT92 E ~~1~~ #52
W ~4~43 ~~1~~
# 17 & K96 3NW3 -400 Mean: 4SW-1 50 70 1 ||# 18 a T74 4SE-1 50 Mean: 4SE-1 50 30 4
v K764 3NW3 -400 -230  3NW-1 50 70 2 v 863 4SE-150 -40 A 00 2
¢ 976 Dif: 0 NS:-5 A 00 2 + K764 Dif: 0 NS:3 3SE3 140 -3.0 4
& J82 IMP: 0 EW:5 3NW3 400 -50 5 & A4 IMP: 0 EW:-3
& Q52 A T743 & 9652 & AKQJ8
v A3 v QJ85 v 542 I v KQ7
¢ AK52 ¢ QJ3 ¢ QJT9 ¢ A32
& AQ75 » 64 » J8 » 52
P eVABN ,A8 oo VAN 4,3
N ~~~~~ v 792 N 3~3~~ »AJT9
S ~~~~~ ¢ T84 S 3~1~~ ¢85
E ~3~33 &KT93 E ~1~3~ &KQT763
W ~3~33 ~1~3~
# 19 4 A96 4HN5 450 Mean: 4HN6 480 3.0 3 ([|# 20 4 AT654 3SN-1-100 Mean: 3NW-2 200 70 1
v KQ842 4HNG6 480 390  4HN5 450 20 4 v AT5 4DE-1100 -80  3SN3 140 60 1
¢ 65 Dif: -30 NS:2 A 00 2 *J Dif: 200 NS:-1  4DE-1 100 50 1
& AQ8 IMP: -1 EW:-3 6HN-1 50 100 1 » KJ83 IMP: -5 EW:5 A 00 2
& KT & QJ875 » QJ87 » K 3SN-1 4100 1.0 4
v 76 v J95 v K2 _I_ v Q963 3NXW3 2750 -12.0 1
¢ 9743 ¢ JT2 ¢ 5432 + AKQT96
& KT765 » 43 » 974 » 65
B¢ VABN 4432 P OVABN 4,032
N ~~6~6 vAT3 N 3~22~ »J874
S ~~6~6 ¢AKQ8 S 3~22~ 87
E ~~~~~ & J92 E ~3~~1 &AQT2
W o~~~ ~ ~ ~3~~1




